H21

18 21 1,117
H21 23
1 55
21
FL:
12 2 60.0-82.0 7
12 8 66.0-85.0 28
12 24 60.0-83.0 20
2
H21
20
cm %
19 5 16 63 47 3 4.8%
19 11 5 121 46 2 1.7%
20 5 8 41 50 3 7.3%
20 12 8 51 46 0 0.0%
21 12 2 7 74 0 0.0%
21 12 8 28 74 0 0.0%
21 12 2 20 70 0 0.0%




H21

H21
H21 7 H22 3 1
226
249 von Bertalanffy
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731 age-length  key
H21 202 153
H20 328 2.45 I
l 3 9 250
H21 3 200
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100

50 r

H5

H6

H7

H8

H9
H10
H11
H12
H13
H14
H15
H16
H17
H18
H19
H20
H21

H19 H21
1.2kg 548mm 1
H21 1 12
H21 H20 H19 H18

169,150 47,028 88,364 30,797 2,961




H21

2 age-length key
1 3 5 7 8
cm |0 1 2 3 cm |0 1 2 3 cm |0 1 2 3
30 30 30
35110 35 35
401 1.0 401 1.0 40
451 1.0 451 1.0 451 1.0
50)08] 02 50 50)08] 0.2
5510.7] 03 55 5510.7] 03
60)02] 08 60 60)01] 09
65 1.0 65 1.0 65 091101
70 09101 70 1.0 70 08]0.2
75 08]0.2 75 75 07103
80 1.0 80 80 1.0
85 85 85
9 10 11 12
cm |0 1 2 3 cm |0 1 2 3
30110 30
35110 35
401 1.0 401 1.0
4511.0 4511.0
50]05]05 50110
55 1.0 55103] 07
60 1.0 60 1.0
65 1.0 65 1.0
70 09101 70 1.0
75 02108 75 08]0.2
80 03]103]05 80 05104101
85 02108 85 05105
L.=965. 9323( 1- e—o,513228(t+o,73336))
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H21

age-length

key 100

75
50

25
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OH17 OH18 OH19 OH20 WH21
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11
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